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No | 75 BE4A BIFOHEZENESR TETHES 2/3l k=16 ALlE
B Rt B Rt B R%
: 1 ﬁ%gﬁﬁ%ﬁﬁ%lzﬁﬁé%zﬁwﬁﬁﬁ 12 4 7 1 19 5
5 5 gﬁﬁﬁ%ﬁﬁtﬁwéigﬁﬁﬁ%wi 15 1 3 0 23 1
3 3 |2ERBOEROELE 13 3 8 0 21 3
5 6 |[HEFIOBD - BLOEE 16 0 8 0 24 0
6 7 |[EREMOREEHIE 14 2 6 2 20 4
7 8 |EEHEICETIEENEOEY 16 0 8 0 24 0
8 9 |(BEMOHOE (F5I1E) 15 1 8 0 23 1
9 | 10-11 [BEMOERROAERD 15 1 7 1 22 2
10 | 13- 14 |RERTRMHIZE 1 5 %EHEE O EM 15 1 8 0 23 1
1 1 15-16 g%ygti\)%%wi%wmﬁmt (RERETLO| 45 1 8 0 23 1
12 | 17 |REEEZOFYY OHMER 14 2 I 1 21 3
13| 18 |RAEEZO%EBERM 15 1 8 0 23 1
| 10 gfgﬁgawéﬁiﬁbﬁ¥é<ﬁmx 15 1 7 1 29 9
15 | 20 |BBEERICHTEEBEEDEN 5 11 4 4 9 15
16 | 21 |BubRICHTEBIADHKER 4 12 3 5 J/ 17
P i;mmwﬁ%¢&%%¢ﬁzam%%w 13 3 7 1 20 4
18 | 23 |Mk#kommESE 15 1 8 0 23 1
19 | 24 |AGHLIESLHEDMIEKOWIES % 9 7 7 1 16 8
20 | 25 |E#-EA (XEBEKIEE) OBRIEL 16 0 8 0 24 0
o1 | o6 %gl$(%ﬁ-ﬁﬁ)éﬁ%ﬁwﬁmﬁ 8 8 6 1 14 9
29 | 29 ;g%mw%%&ﬁéﬁﬁﬁi%wiﬁw 15 1 8 0 23 1
23 | 30 |HEGHEEZECEOBHE 16 0 8 0 24 0
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